


         

B.Com. DEGREE EXAMINATION – 
JANUARY 2009.

Third Year
(AY 2003–04 and CY 2004 batches only)
Commerce
COST ACCOUNTING

Time : 3 hours
Maximum marks : 75

Answer for 5 marks question should not exceed 
2 pages.

Answer for 15 marks questions should not exceed 
5 pages.

PART A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. What is a cost sheet? State its contents.

AhUPzuõÒ GßÓõÀ GßÚ? Auß EÒÍhUP® ¯õøÁ?
2. What is material control?

‰»¨ ö£õ¸mPÒ Pmk¨£õk GßÓõÀ GßÚ?
3. Name any two methods of costing and explain.

H÷uÝ® Cµsk AhUP PnUQ¯À SÔ¨¤mk, ÂÍUSP.
4. Maximum consumption in a month – 300 units

Minimum usuage in a month – 200 units

Average usuage in a month – 225 units

Time – lay for procurement :


Maximum : 6 months


Minimum : 2  months


Re-order quantity = 750 units.

Calculate 
maximum stock level and 
minimum 
stock level.

E¯º¢u AÍÄ ~PºÄ ©õu® =
300 A»SPÒ

SøÓ¢u AÍÄ ~PºÄ ©õu® =
200 A»SPÒ

J¸ ©õuzvØPõÚ \µ\õ› ~PºÄ = 225 A»SPÒ.

öPõÒ•u¾UPõÚ Põ» AÍÄ :


E¯º¢u £m\® 
=
6 ©õu[PÒ


SøÓ¢u £m\®
=
2 ©õu[PÒ


©Ö Bøn AÍÄ
=
750 A»SPÒ.

E¯º¢u ©ØÖ® SøÓ¢u AÍÄ \µUS Psk¤iUP.
5. Calculate Break – even sales from the following :

	
	Rs.

	Sales
	15,000

	Variable material cost 
	6,000

	Variable administrative cost
	1,500

	Fixed expenses
	4,000


RÌUPõq® ÂÁµ[PÎ¸¢x »õ£ |mh ©ØÓ Âø»¦ÒÎ PnUQkP. 

	
	¹.

	ÂØ£øÚ
	15,000

	©õÖ® ‰»¨ö£õ¸mPÒ ö\»Ä
	6,000

	©õØÖ® {ºÁõPa ö\»Ä
	1,500

	{ø»a ö\»Ä
	4,000


PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. State and explain any 5 differences between cost accounting and financial accounting.

AhUP Âø» PnUQ¯¾US® {v PnUQ¯¾US©õÚ Âzv¯õ\[PÒ H÷uÝ® I¢x SÔ¨¤mk ÂÍUSP.
7. Write short notes on

(a)
Differential piece rate schemes

(b)
P/V ratio.

]Ö SÔ¨¦ ÁøµP :

(A)
©õÖ£k® A»S FUP Fv¯®

(B)
£[PÎ¨¦ ÂQu®.
8. The following information is extracted from a stores ledger.

Opening stock :
NIC

Purchases :


Jan 1
100 units at Rs. 1 per unit


Jan 20
100 units at Rs. 2 per unit


Jan 25 
50 units at Rs. 3 per unit.

Issues :


Jan 22
60 units


Jan 23
60 units


Jan 26
40 units.

Prepare the stores ledger under FIFO, LIFO

\µUS ÷£÷µmiÀ C¸¢x RÌUPõq® ÂÁµ[PÒ ö£Ó¨£mhx.

Bµ®£ C¸¨¦ : NIC

öPõÒ•uÀ :


áÚÁ› 1
– 100 A»SPÒ ¹. 1 Ãu®


áÚÁ› 20
– 100 A»SPÒ ¹. 2 Ãu®


áÚÁ› 25
– 50 A»SPÒ ¹. 3 Ãu®

öÁÎ°kuÀ  :


áÚÁ› 22
– 60 A»SPÒ 


áÚÁ› 23
– 60 A»SPÒ


áÚÁ› 26
– 40 A»SPÒ

FIFO, LIFO •øÓ°À \µUS C¸¨¦ ÷£÷µmk PnUQøÚ u¯õ›UPÄ®.


9. Calculate the normal and overtime wages payable to a workman from the following data :

	Days
	Hours worked

	Monday
	8

	Tuesday
	12

	Wednesday
	10

	Thursday
	10

	Friday
	9

	Saturday
	4

	
	53


Normal working hours – 8 hours per day, on Saturday – 4 hours. Normal rate Rs. 2 per hour.

Overtime – upto 9 hours in a day at single rate and over 9 hours in a day at double rate. On upto 48 hours in a week at single rate and over 48 hours at double rate, whichever is more beneficial to the workers.

RÌUPõq® ÂÁµ[PÎ¼¸¢x C¯À£õÚ, ªøP, ÷|µ Fv¯® PnUQkP :

	|õmPÒ
	£o¯õØÔ¯ ÷|µ®

	v[PÒ
	8

	ö\ÆÁõ´
	12

	¦uß
	10

	Â¯õÇß
	10

	öÁÒÎ
	9

	\Û
	4

	
	53


C¯À£õÚ £o ÷|µ[PÒ – Kº |õÐUS 8 ©o ÷|µ®, \ÛUQÇø©PÎÀ – 4 ©o÷|µ®, C¯À£õÚ Fv¯ ÂQu® – ©oUS ¹. 2 Ãu®

ªøP Fv¯® Â£µ® : Kº |õÎÀ 9 ©o ÷|µ® Áøµ C¯À£õÚ Fv¯•® AuØS ÷©À £o ÷|µ[PÐUS Cµsk ©h[S Fv¯•®. AÀ»x ÁõµzvÀ 48 ©o ÷|µzvÀ C¯À¦ Fv¯•® AuØS ÷©À £o÷|µ[PÎÀ Cµsk ©h[S® CvÀ Gx £o¯õÍºUS £»ÛUP Ti¯÷uõ AvÀ ÁÇ[P¨£h ÷Ásk®.
10. Sekar and Co., produces a product through two process. Prepare the process account from the following particulars.

	
	Process
	Process

	
	I
	II

	
	Rs.
	Rs.

	Material
	45,000
	15,000

	Labour
	60,000
	25,000

	Other expenses
	5,000
	10,000


Overheads Rs. 17,000 is to be apportioned on the basis of labour.

÷\Pº {Ö©® £i•øÓ •øÓ°À EØ£zv ö\´QßÓx. RÌUPsh Â£µ[PÎ¼¸¢x £i•øÓ PnUSPøÍz u¯õ›UPÄ®.

	
	£i I
	£i II

	
	¹.
	¹.

	‰»¨ ö£õ¸mPÒ
	45,000
	15,000

	EøÇ¨¦U T¼
	60,000
	25,000

	¤Ó ö\»ÄPÒ
	5,000
	10,000


÷©Øö\»ÄPÒ ¹. 17,000 EøÇ¨¦U T¼ Ai¨£øh°À £[Qh¨£h ÷Ásk®.
11. The following are the expenses of Babu and Co., in respect of a contract which commented on 
1st January, 2005.

	
	Rs.

	Materials purchased
	50,000

	Direct Wages
	75,000

	Plant issued
	25,000

	Direct Expenses
	40,000


The contract price was Rs. 75,000 and the same was duly received when the contract was completed in August, 2005.  Charge indirect expenses at 15%. On wages, provide Rs. 5,000 for depreciation on plant. Prepare the contract account.

£õ¦ {Ö©zvß J¨£¢u PnUQß ÂÁµ[PÒ 2005, 1À ¤ßÁ¸©õÖ EÒÍÚ.

	
	¹.

	‰»¨ö£õ¸mPÒ öPõÒ•uÀ
	50,000

	÷|µi T¼
	75,000

	ÁÇ[P¨£mh C¯¢vµ®
	25,000

	÷|µia ö\»ÄPÒ
	40,000


J¨£¢u Âø» ¹. 7,50,000 GÚ {ºn°UP¨£mk, J¨£¢u® •ÊÁx® ö£Ó¨£mhx.

T¼ «x 15% ©øÓ•P® ö\»ÄPÐ®, C¯¢vµz öuõSvPÎß «x ¹. 5,000 GÊu¨£h ÷Ásk®. J¨£¢uU PnUS u¯õ›UP.
12. The sales turnover and profit during two years were as follows :

	Year
	Sales
	Profit

	
	Rs.
	Rs.

	2003
	1,40,000
	15,000

	2004
	1,60,000
	20,000


Calculate 

(a)
P/V ratio

(b)
Break even point

(c)
Profit when sales and Rs. 1,20,000.


ÂØ£øÚ²®, »õ£ Â£µ[PÐ® Cµsk BskPÐUS ¤ßÁ¸©õÖ EÒÍÚ.

	Bsk
	ÂØ£øÚ
	»õ£®

	
	¹.
	¹.

	2003
	1,40,000
	15,000

	2004
	1,60,000
	20,000


(A)
£[PÎ¨¦ ÂQu®

(B)
»õ£ |mh ©ØÓ Âø»¨¦ÒÎ


(C)
¹. 1,20,000 ÂØ£øÚUPõÚ »õ£® PshÔP.
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